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	 1 ��
�
��
�����

�������� !� (moisture) (AOAC, 1997)  
 

 1.1 �
���
�����������������������  5 "�
� #$�#% aluminium dish �����/01�/��
����%23�0%
"���/%�%�%/�1� (�
%�4"%23�0%
"���/%�%�% �5%6�� 4 �3�/0%��) 
 1.2 �3�"���
%�4"%23�0%
"�
������9�1�� aluminium dish :�"%
2%%3�;���#01/01����
�< 0=>�6 103 A 105oC  #%�>1�����1�%%�%�����  3 �
��C�� %3���"��:�"�>1��/�������#01
��D%#%CE�>�F����G2% (desicator) /���
��%23�0%
" %3�;���L23�0���M F�
2� :%;�1%23�0%
"���F���� 
$3�0�
�"���6�F���0N��6�� F����G2%:��3�"������� 3 L23� /���
�F��L23��� 3 �
������ 
 1.3 F3�%� 0���6�� F����G2% 
                         ��6�� F����G2%      =    %23�0%
"�
���������0��;�0�
�:�"��/01� x 100 

        (% wet basis)                               %23�0%
"�
������"��%�� 
                     

	 2 ��
�
��
�����

���-	�.� (crude fat) (AOAC,1997) 
 
 2.1 �
���
���������/01� (���;�1:�""��0���6�� F����G2%) 2 "�
� 0���
�������1��
"����T"��� #$���#% thimble /�1��U��1�� fat A free glass wool �9G���X��"
%�
�����������"
:�" thimble 
 2.2 #$� thimble ������:<�
��������#% soxhlet extraction tube �����/01�/������
%23�0%
"Y�� tube ���/%�%�%  
 2.3 #$� Petroleum ether �����  150 ml 0�G�#01���� �
������ ��#% extraction 
tube  
 2.4 %3�;�$"
�;Y�
% C���
2�$=���#%"��$"
� �
�%�2 
         Extraction temperature  150oC 

        Boiling time    30 min. 
        Solvent reduction A:   5 x 15 ml. 
        Extraction time   80 min. 
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        Solvent reduction B:   8 min. 
        Solvent reduction C:   5 min. 

          Solvent reduction interval  3 min. 
         Solvent reduction phase  3 sec. 
   
 2.5 %3�$��% ether ��������;Y�
%���$"
�;�1;�;�� ether ��" C��#01F����1�%�% 

water bath =��#%�>1F�
% 
 2.6 ��G��;�� ether ��"0��/�1� #01%3�;Y�
%���/�";�1;�������< 0=>�6 100 oC %�% 30 
%��� �62�#01��D%#%CE�>�F����G2% (desicator)  /�1��
��0�%23�0%
" $3�0�
�"���6�F���0N��6�� ;Y�
%
:��3�"������� 3 L23� /���
�F��L23��� 3 �
������ 
 2.7 F3�%� 0���6�� ;Y�
% 
        crude fat         =        %23�0%
";Y�
%���$"
�;�1  x 100 

       (%dry basis)                      %23�0%
"�
������/01� 
 
	 3 ��
���4���
565�7 �8�� (Nagy /��F �, 1990) 
 
 3.1 ���
������#01�������/���
��%23�0%
"�
������ 5 "�
� (:�%23�0%
"���/%�%�%) #$�#%
0��������$3�0�
��Y1��F�G���0�<%�0����� 
 3.2 ��6�����%�� 10 �6��6�6�� e$�#01�Y1�"
%�1���F�G��� vortex #�1F���/�����$>�
���$<���f%���� 30 �6%���  
 3.3 %3�;�/��#%����%23�/YD���f%�������� 15 %��� �9G��#01�"6�"���"��"�%����� 
$��>� N 
 3.4 %3�;��Y1��F�G���0�<%�0�������� 1,000 x g ��f%���� 15 %��� ��� 25oC  
 3.5 %3�$��%$�������#$�1�%�%;�"���e��%/e�%"���$3�0�
�#�1"
��<�"���Y%�� 
10 �6��6�6�� C��#�1/e�%"��� Nylon 66 membranes L4�����$1%e��5>%�N"���Y���>9�<% 0.45 
;�F��% /���$1%e��5>%�N"���/e�%"��� 13 �6��6���� ���01� whatman 
 3.6 �
 � F� �"� � �> �"�G %/$ �Y��$� ��������� e� �%"� �" �� ��1 �� � F �G� � �   
UV A Vis Spectrophotometer double beam �<�%UV 2 -100 ���F������F�G�% 420 %�C%����  
C�� blank FG� ����%�� /���3�"������� 3 L23� /���
�F��L23��� 3 �
������  
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	 4 �
����
�
��
���� TBA number (Egan /��F � 1981) 
 
 4.1 "��������$���F��  
  4.1.1 $������� hydrochloric acid F����Y1�Y1% 4 C����N (4 M HCl)  
              %3�$������� HCl �Y1�Y1% 35 �6��6�6�� #$�#% volumetic flask Y%�� 
100 �6��6�6�� �����%23�"�
�%�����  30 �6��6�6�� �Y���#01�Y1�"
% /����
���6����:%F�� 100 
�6��6�6�� 
  4.1.2 $������� Thiobarbituric acid F����Y1�Y1% 0.2883 %  
     �3�"���
�� thiobarbituric acid 0.2883 "�
� �����#%$�������  
glacial acetic acid ���F����Y1�Y1% 90% :3�%�% 100 �6��6�6�� 
 4.2 �6n�"������� 
  4.2.1 %3��
������������������ 10 "�
� #$���#%��"�"��NY%�� 100 �6��6�6�� 
��6�%23�"�
�% 50 �6��6�6�� /��e$�#01�Y1�"
% �62�;�1��f%�������� 2 %��� 
  4.2.2 ��$��%e$�:�"Y1���� 4.2.1 ��#% Distillation flask Y%�� 500 �6��6�6��         
(quantitative transfer) C��#�1%23�"�
�% 75 �6��6�6�� �1���
���������F1��#%��"�"��N /����%23�"�
�%���
#�1�1�����#% Distillation flask 
  4.2.3 ��6�$������� HCl F����Y1�Y1% 4 C����N 2.5 �6��6�6�� /����6�
antifoam  2 A 3 0�� "
� glass beads 2 A 3 ��D�  
  4.2.4 "�
�%�"D�$�����;�1:�""��"�
�% (distillate) 50 �6��6�6�� #% volumetic 
flask Y%�� 50 �6��6�6�� =��#%�������� 10 %��� %
�:�"��6����G��  
  4.2.5 �U��� distillate 13 �6��6�6�� #$���#%0��������  
  4.2.6 ��6�$������� TBA F����Y1�Y1% 0.2883% :3�%�% 13 �6��6�6�� /���U�
q�0���/"1� 
  4.2.7 �Y���#01�Y1�"
% /��#%%23���G����f%�������� 35 %��� ��G��F��"3�0%�%3�
��/��#%%23���D%��f%�������� 10 %��� /���62�#01��D%�����< 0=>�601�� 
  4.2.8 "�������� Blank ���%�����"
��
������ C��#�1%23�"�
�% 13 �6��6�6�� /�% 
Distillate 
  4.2.9 �
�F��"���>�"�G%/$� (absorbance) Y���
������ /�� Blank ���            
F������F�G�% 538 %�C%���� $3�0�
�"���6�F���0N TBA number :��3�"������� 3 L23� /���
�
F��L23��� 3 �
������ 

 



 

 

122 

122 

  4.2.10 "��F3�%�  TBA number  
                      E1 � #�1  ce l l  ��� ��F���"�1 �� Y���� ����� / $ �e� �%  1  � L%�6 � ���  
TBA number (�6��6"�
�Y�� malonaldehyde/"6C�"�
�Y���
������) = 0.78 DW 

��G��  D          =  F��"���>�"�G%/$�Y���
������ - F��"���>�"�G%/$�Y�� Blank  
       W ("�
�) = %23�0%
"�
������  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  

 


